PRIMARY

TERTIARY

8778, variation B

anode 1
WHITE (1)
ORANGE (1)

WHITE (2)
ORANGE (2)

WHITE (3)
ORANGE (3)

——————— +HT

YELLOW (3)
GREY (3)

YELLOW (2)
GREY (2)

YELLOW (1)

GREY (1)
anode 2

GREEN

BLACK x 2

BROWN

GREEN

BLACK x 2

BROWN
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1-1,

COLOUR CODE

RED (1)
BLUE (1)
RED (2)
BLUE (2)
SECONDARY
RED (3)
BLUE (3)
RED (4)
BLUE (4)
RED (4)
BLUE (4)
RED (3)
BLUE (3)
RED (2)
BLUE (2)
RED (1)
BLUE (1)
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Join each half in parallel,
i 2-2 etc.,

then series or parallel the 4
windings according to load.

Tertiary

Alternative Tertiary



COLOUR CODE

8778, obsolete
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